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BAIE/NITS

[ IkL=1000L ] |kLIZ1Lo> 1000 f&

kL OBEfI% L ICEENASLEIL,
X 1000 ML\

Bz KE<TS

[ | L=0.001 kL ] ILIZ1kLO> 1000 500 |
L OBifii% kL ISEED AL EIL,
X 0.001 Fflk, + 1000 FHULL

® 4160L= ( 4.16 ) kL
4160(L)X0.00I=4.16 kL 9300(L)+1000=4.16kL

@ 60L= ( 0.06 ) kL
60(L )X0.001=0.006 kL  816(L)+1000=0.006 k L

@ 59000L= ( 59 ) kL
59000( L )X0.001=59kL  59000(L )=1000=59 k L

@ 1.2kL= ( 1200 ) L
.2(k L)X 1000=1200L

® 9kL= ( 9000 ) L
9(k L )*x1000=9000 L

® 384kL = ( 384000 ) L
384(k L )X 1000=384000 L
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| L=1000cc |

Bt RE<TD
| cc=0.001 L |
1000cc= ( | ) L

1000(cc)*0.001=1I L

480cc= ( 0.48 ) L
480(cc)X0.001=0.48L 4

10300cc= ( 10.3 ) L
10300(cc)x0.001=10.3 L

3.004L= ( 3004 ) cc
3.004( L )X 1000=3004 cc

1.5L= ( 1500 ) cc
1.5(L )X 1000=1500 cc

g6L = ( 96000 ) cc
g6( L )X 1000=96000 cc

ILix1lccd 1000 &
L OBMIE cc I2BENABLEI,
X 1000 FHiLLwv

lcc lZ kL 1000 9 |
cc NDHEAIE L ITHEENZBLEIL,
X 0.001 Ff=l& + 1000 THULLW

1 000(cc)=+1000=1 L

80(cc)+1000=0.48 L

10300(cc)+1000=10.3 L
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| dL=100 mL ] IdL IE 1 mL o 100 &

dL OBAIE mL IZHENABLEW,
X100 FHILL
BUeKRETS

| mL=0.01 dL ] ImLiZ1dL o 100 40|

mL OB % dL ICEEHNZBLFL,
X 0.0l F7IE, + 100 FrULLW

1000mL= ( 10 ) dL
|000(mL)X0.01=10dL  1000(mL)+100=10dL

850mL= ( 8.5 ) dL
850(mL)X0.01=8.5dL 850(mL)=+100=8.5dL

26mL= ( 0.26 ) dL
26(mL)x0.01=0.26dL  26(mL)+100=0.26dL

5ddL= ( 5900 ) mL
59(dL)X100=5900 mL

9.4dL= ( 940 ) mL
9.4(dL)X 100=940mL

|107dL= ( 10700 ) mL
107(dL)X100=10700mL
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